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Candidates are EQE.BQ to give their answers in
their own words as far as practicable.

The mms.mm. in the margin indicate full marks.
. Answer from both the Groups as directed. |

. ,n.w_.o:uvlb. A ,
- (Objective Type Questions)

Answer all questions.

1. Choose the correct answer of the following :

e , 2x10=20
(@) To interconnect two :oaommzmocm WANS, .
: we need a. k
(iy Bridge

(ii) Om.ﬁmémvx .
(i) Router
(iv) HUB
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(i) Fast WEmSQ operates at :
_8 10 mbps
(i) 100 mbps
(iiiy 1000 anm
(iv) None of these
G .ﬁ.o_u mxo:m:omm datain ~%m 3:3 of :
O Datagrams .
(i) Packets
(iii) Segments
e<v mﬁmBmm

: O_.o:w B
Fo:m-m:mio.. Type Questions)

: .>:m<<m« any four ncmwﬂ_o:m of the ﬁo__oi_:@
15%4 =60

t mxu_m.,: ring, star and tree "ouo_o‘mmmw along with
their advantages and disadvantages. ;

mxu_m_s the acmmm of each _.m<m« of the OSI Model.

; A,Amv D_mma:ﬁ_mﬂm w:a@m Router and Repeater.

euv O_mmﬁm:cmﬁm Guided m:a c:-ucama Bma_m

ME-1011 (4) | iponlcy

Explain different types of wi:,o!:n ﬁmo::mn:m\.m‘

along with their advantages and disadvantages.

. Describe the frame structure of SDLC. How
* HDLC frameformat is m:nmzoq to SDLC frame
- format ?

. Discuss O_mﬁmzom Vector m_.a _._:x-mﬁmﬁm Routing

in detail. \ o

Amv “Write m:on notes on __u-maa_‘mmmmm

AUV mxn_m_: class-ful and class-less maa«mwm_sm

Discuss TCP and CQU transport ~m<m_. protocol
indetail. =
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